
Divide Two Integers
Yuxiao Chen 6118492





If the divisor is 1, the output should be the same with the dividend. 

If the divisor is -1, the output should be the –dividend. 

If the divisor is -1, the dividend is the minimum value, it should be output 

the maximum value. 



Use absolute number to determine the size of dividend and 

divisor. 

If the dividend is very large and the divisor is very small, it 

will be execute for a long time. 



 Then change the mind from how to make dividend to be the same with divisor 

to how to make the divisor be the same with the dividend. 



If absolute dividend < absolute divisor, result will be 0.XX, then 

it will output 0.  



When the division result > maximum value, it will output 

the maximum value instead. 

To judge the result is positive or negative by simple math 

way. 







Thank you


